Adda

eY

7 GET IT ON
Google Play

T 10 e & vt oo S-RAEH & I W A SNOHLIR. ST W @ i o oeRd & 1 AR ORI T 9 Se-gRas
%Wﬁﬁ%maﬁggﬁmssingWmsprintﬁﬁﬁmamﬁmm-mwal

Sub. Code No. — 1208 Level — 2
TGT - For Classes : Vi to VI
[ ] Exam., 2023
SET - A ARTS -G HHIh T 3N.TH.AR. FHI
Question-Booklet Serial No. & O. M. R. Serial No.
39 U-gRaw & gt A He us @ de T
No. of Pages in this Question Booklet — 32 | No. of Questions — 150 Time — 2.30 hours

STTFAIE (BT ) / ROI NO. (IN FIGUFES) ..o
ST (FTRT H) / RO NO. (IN WOTES) ... eereeeeeeeessssssaae e eeeeeeeessssss e e
QT 5 BT AT/ NAME Of EXAMINGHON CONIE ........vveoveveeessessssssssssssss e ssssssssssssssss s ssssesss s s ss s ss e sssss e s s st
G BT AT/ NAME OF CANGIAALE -....oove e ee e ee e ee e e e ee e ees e e ee e ee e ee s e e ee e ee e ee e see e e e eeee e eee e seneesenee

il 3 SRR/ Signature of Candidate

et 10 BFE F 9 g9 W B4 T B 17 T SR T 7 A FEer A & e R srem aR ge-gRawm @ S =
N FH WO T S & A1 By IS missing I1 misprint B T T FR UGS § AT H IT-GRAHN T/ A1 IHb G Hig @0
WeR T far smem 39 10 B 3 ofRem, we W @ S i B @ R @

2,30 € F T R som R REh onmeft @t
ge-gRaem & Ru T Rl o uew § B8 R @R W wie & A 3 R o o sl @ Suw dfvaeT % @ R s R
M o el iR R & RN 39 @ § oY WRET S FEid ¥ 39 Al 9 &1 39 o @ 956, 39 99 ¥ |
yiRE W s fEm @ R smm

IR Rl ge7 F B 7 oA aregw 7 Rrrar & at g aregm #w g9 3% TAET W

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

\?IWW % e ﬁiﬂl/ Instructions for the Candidates :—

1. SR, IR OF 30 IT-RH & X T@ 8l 9 ST Ie-GRaH Te H Fel S, A W T M X @M § dAd w O
‘alg? ﬁ;f @( foar sﬁl / The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the Question Booklet, take
out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.

2. Tem i ofy 2.30 ¥ R U QQ:T-W # 150 §eW & B WOMHD HH et 1 / The test is of 2.30 hours duration and consists of

150 questions. There is no negative marking.

3. AT R SR T @ I TE W MM @ & T 3aq B S 9RO F SEN B e 9eT-gRasm B IwE & w
I T P AT § @Y X1 / Use Black Ball Point Pen only for writing particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful in handling the question paper and in darkening the responses on the answer

sheet.

4. yum 10 fFe #, 75 A ghRed & & B oe-gRam % o S T FHiE 0 8 81 OFR 38 B 8 a1 ged-giae § i s
missing I1 misprint & et iﬂﬁ H-‘FT-EW AN TN T o B ﬁ!"'\’ e P [SASSESENN] Eb_'(_CITEI / Within first 10 minutes,
also ensure that your Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy or any page
missing/misprint in test booklet, then the candidate should immediately report the matter to the Invigilator for replacement of both
the Question Booklet and the Answer Sheet.

5. qad-2 [FT VI § VIO $ Q] 5. Level-2 [ For Classes VI to VIII ]
qF-1 S o Rem e 71 | 599 30] PART-1 : Child Development and
qED [ 31 & %9 60] RRDL L Pedagogy [c[)insl :O g”' zg}
. T —II : Language: n. o Qn.

(e 18507 7 1 185%7) (Hindi : 15 Qn. & English : 15 Qn.)

AR T ST [T 61 & 557 90] PART-III: General Studies : [Qn. 61 to Qn. 90]
(' A T < 10 TS, b ST < 10 9, T (Quantitative Aptitude : 10 Qn, Reasoning
T T A : 10 95) Ability : 10 On, G. K. & Awareness : 10 Qn.)

qF-IV : [T 91 | W 150] PART-IV: Arts [Qn. 91 to Qn. 150]

|[=ﬁ€ RIS gf{wr 3 o & Ru mu 9w R @ lﬁfl / Please read other remaining instructions given on the last page of this booklet. ]|



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

% %4 3 T [FOR ROUGH WORK]

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

AT -1/ PART -1
9 foere 9 s / CHILD DEVELOPMENT AND PEDAGOGY
fraer : frfafaa gt & SR 39 & e @9@ S fawe ghm

Direction : Answer the following questions by selecting the most appropriate option.

GET IT ON
Google Play

[3/A]

1.

frfofeg & @ @m-ar W
HAERERT § dE 78 © 7

1) G H I

2) [¥=ar @1 FEw

3) UferMH &1 e

4) WA H A

Frefafed & & Se-a1
fraTcTs e 78 © ¢
1) HIg H b fSoET g
2) TARIS BT YE-TEHT &
3) AR B a5 T

4) WARE-fA gl

Freifafad & | @F-a1 aRg e 56K
H U 78 B ?

1) FBeE g

2) fasqvonH® U

3) TgaHTH U

4) R ©F 997

Rt & o fashre fsid & STgER,
fepQRTareen ® -

1) Afee Femfare #t sEwen

2) wIfeep SfceRdr @ Sraeen

3) U SfaeRdr @l Sraeer

4) W@EA Afcedr $ sraer

frfafad & @ d9-a fdvar RS
R UiqUiied SsiHIc faeprd Rsr=
%ﬁﬁﬁﬁmmwﬁﬁaﬁﬁvﬁ
?

1) IepUlEd (e &l &)

2) S

3) Siga’

4) @O

& & Th

[ Level-2 /1208 ]

1.

Which of the following laws is not
related to heredity ?

1) Law of Similarity

2) Law of Variation

3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?
1) Koh's Block Design Test

2) Alexander's Pass Along Test

3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality
4) Stage of autonomous morality

Which of the following
characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

P.T.O.
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6. Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.

7. When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method
2) Whole method
3) Massed method
4) Incidental method

8. Which teaching maxim 1is not

beneficial for the Ilearning
disabled children ?

1) Simple to complex

2) Abstract to concrete

3) Direct to indirect

4) Known to unknown

9. Which of the following is not a

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development follows linear
path.

4) Development proceeds from
general to specific.
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According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky

2) Piaget

3) Bruner

4) Hull

Which of the following is not a

common characteristic of social

development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping

3) Search for identity

4) Hero-worship

Which stages of Kohlberg's moral
development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@ & (b)

2) (®) & (o)

3) (@ & (d)

4) (©) & (9

Learning through mental

processes like attention and

reflection is called :

1) Imitative learning

2) Motor learning

3) Cognitive learning

4) Aiffective learning

P.T.O.
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Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip

2) Lecture

3) Experiment

4) Brain storming

In Pavlov's conditioning theory,

which factor does not positively

affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli
presentation

2) Repetition of stimuli

3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher
4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response
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Which of the following pair is not

correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow
theory

3) Drive theory

4) Achievement
Motivation theory

Woodworth
Mc'Clelland

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for normal and
disabled children

4) Education for all children

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?
(a) Componential (b) Experiential
(c) Operational (d) Contextual
Choose the correct code :
Code :
1) (@), ®) & (c)
2) (b), (c) & (d)
3) (a), () & (d)
4) (@, (c) & (d)

P.T.O.
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Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills

(b) Empathy

(c) Ego-centrism

(d) Stereotyping

Codes :

) @& @® 2)(b) & (@)

3) (@,Md) & (©)4) (), (c) & (d)

The true meaning of continuous

and comprehensive evaluation is :

(a) Taking frequent tests

(b) Taking continuous tests at
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the correct code :

Code :

1) (b) & (d)

2) (b) &(o)

3) (), (b) &(c)

4) (), (©) &)

The education which promotes
learning by doing' and ensures the
students interaction with their
environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education
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Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation

(b) Aptitude

(c¢) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), ()& (d)

3) (@ &(c)

4) (@), D), (c) &(d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2 /1208 ]
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2) Has the work been done ?
3) Had the work been done ?
4) Will the work be done ?

471. Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

48. Fill in the blank with the most
appropriate modal auxiliary :
Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

49. Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2 /1208 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
&) ®)

record held / by Bradman who

© @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy
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Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

GET IT ON
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[13/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoon as

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender
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61.

62.

63.

64.

65.

A, 7@ R | uftem # 8 {5 e
g T @ YoHK 2 fPl Tem © g
¥ gEHK 5 Rl T@an B, o 98
JEA fag & dedt § o e fRam
T fe B 7

1) SRU-UREH  2) ITR-giREm

3) IUC-T 4) Ry

qg fE He 9 ¥ 'PROJECT' &l
'CEOPRT' @1 'PLANE' & 'ELNP'
ferEr ST B, @ 'ORGANISED' &1 341
%S WM H {8 SRR foren S ?

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS
qSh Bl Th Uik H, A 9@ T A
79 @1 B Il @% § 124 @M W
g, AR % WM H WER aRedH
e om B, @ A & 9 T @
22d] M & S 8, O U § g
qSH P G ® ¢

1) 27 2) 31
3) 33 4) 34

TF URaR H, A, X H U1 &, B, Y &
G R, AN X T Z B g Y &,

frafofed woei & & dF-A1 HH
fafyaq w0 @ @& 78 & ?
1) B,A & Tl ©
2) B % T P B
3) X,AHER
4) Y,Z P 98T
& T JEdr § 7o 6 © o
0,3, 9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360
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A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West 2) North-West

3) North-East 4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?

1) 27 2) 31

3) 33 4) 34

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A

2) B has adaughter

3) XisthesonofA

4) Y isthe sister of Z

Find the wrong number in the
given series :

0,3,9, 12, 36, 39, 42, 120, 360

1) 12 2) 39

3) 42 4) 360
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e A 3T RRem F 8 Rt SR T

et TWH ot 6 fpHl aaiar & e
g SI-yd RS H gee 10 {6

aa?n% ar A Rt fog @ Reae

fg@rlﬂ%?

1) 0 fret 2) 8 Bt

3) 10 fat 4) 12 fFH

zri?maqﬁaﬁo‘eﬁqﬂﬁem(j?ﬁ

q7 & § 8 9 @ B, af S #e
% AV HE A 12 BA A T A @
foe fopom afat @t sTasgRar & ?

1) 6 2) 8
3) 10 4) 12

o1 o

1) 4 a9 2) 5 I
3) 6 aHI 4) 8 i
e Efa 9gye H

1) 6 2) 9

3) 10 4) 12

q g erge A T B, dfer @
ST &l ST T 5 : 2 T 3 : 4
%,sﬁﬁr%ra@aﬁﬁv?rzazmzﬁo‘m
T B @ 21 fR e @ € e
oy IS S 8, 3@ T8 M g A
H@HWWNIW\H@HIGW%?

1) 1:2 2) 2:1

3 2:3 4) 1:1

I 7 cosec O — 3 cot © = 7 T O
goH Tgeist § &, @ 7 cot 6 - 3
cosecH & UM T :

1) 3
3) 3/1

2) 5
4) 5/1
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If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm 2) 8km

3) 10km 4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8
3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 0 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

P.T.O.
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12,

13.

14,

15.

16.

11.

¢ T g ¥, T GHSTg Yl ABC
fafifed e s % ERSICHEII
gt © owd YEel 8 W aa
Pyt =i

1) fowmerg By

Uh GHMER, T a&) 15% o W
9T 2, 3R 399 39 18 BYY 3w
o 997 2dn, Ol A 18% & SN 39

I&] F F9 gA (W H) ®

1) 600 2) 540
3) 350 4) 380
Frefefed 2ot & Ja T © ¢
DBC, KIJ, QOP, _ ? , ZXY
1) VUW 2) USV
3) UTV 4) VTU
A S dEel H SRR 3§, A

ST G H AR 369 B, A A
et & A § ¢

1) 25 2) 21
3) 3l 4) 33

oo & ©F dred H o faee,
AR B 12 A JT AGA H 5

T B, @ AR IEH AVBA 36 &,
Y 2

1) 2706
3) 2796

2) 2736

4) 2766

gk A ‘¥ @7, B AN @', C
‘N &’ T D N HI YRR
HA Z, AW20C 12B8A2D 6
ENELEESE

1) 16 2) 18

3) 32 4) 36
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If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle

4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540
3) 350 4) 380

The missing term of the following
series is:
DBC, KIJ, QOP, _ ? ,ZXY
1) VOW 2) USV
3) UTV 4) VTU

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbersis:
1) 25
3) 3l

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736

3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equal to :

1) 16 2) 18

3) 32 4) 36
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i

Th A 12 fhelHIe @l gl 3
i ger, 18 fpaHie &l gl 9
gt g9 qUT 24 feHie @ gl 4
Reeit of =ver @ 9 &I &, @ FYol
g T F B AEd =9 B

1) 4 feHi/Aver  2) 4.2 [ /A
3) 4.4 fpHi/AvE 4) 4.5 AT /A0

Rt T fapedi § @ fqw & §@
I

1) 2) o

3) FER 4) Figh

gt 16-4=2,9-3=2,81-3=4
g, A 64—-4 F AN & :

1) 3 2) 2

3) 4 4) 6

1857 & fagle & M, Ffoag o
9 fheq Usas H fofesr Remi W
STHHOT foHar ?

1) THIA A

2) THM Il

3) WX e

4) =Y M

R B AR qeiedl & gy ®
1) SREA gEar |§

2) Rgpa gu |

3) R & 9wl HEar 4@

4) T @ =R SEar

gﬁ?aw ¥ s @ 3% e Rem
1)‘@1’[?; 2) fiER

3) WewTS 4) ST

g & ot dedia & ?

1) 95 2) 49

3) 143 4) 14
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A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

1) 4 km/hr
3) 4.4 km/hr

2) 4.2km/hr
4) 4.5km/hr

Find the odd word from the given
alternatives :
1) Violin
3) Guitar

2) Harp
4) TFlute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the ifollowing attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range

2) Hindukush range

3) Outer range of Himalayas
4) Inner range of Himalayas

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind 2) Pinjore

3) Mahendragarh 4) Ambala

How many Tehsils are there in
Haryana ?
1) 95
3) 143

2) 49
4) 14

P.T.O.
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85.

86.

81.

88.

89.

90.

1) aNba
3) &

2) gMad
4) IR

godlotdodio & A, S HIK
7 gRaen & Touue a9 R

1) Sfo To R0 fFEag

2) o qIwR g S

3) i flo THo Tekadi

4) & HEEN UH

TqAq B HEA Bl OTEE IR
BECll d UiRAYT Y B BRAmm
AHN &R I o V&l qoT ®

1) T BET AT AN

gamn & fefofed & & @ &
O A0 & AW d AT g 7

1) 96T T
2) e MG A
3) &1 AN WY
4) & GO T
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In which district of Haryana, the
Khelo India Women's Archery
ranking competition was organised ?
1) Sonipat
3) Karnal

2) Panipat
4) Yamunanagar

The UPSC Chairman, who
subsequently became the Governor
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti
4) Shri Mahabir Prasad

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition cropsis:

1) Meri Fasal Mera Byora

2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

3) Panchkula

2) Ambala
4) Kurukshetra

Who is the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2 /1208 ]
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fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

T & B9 9 B9 & Al
2

1) 9q 2) S

3) a 4) BE

g ar | B 7

1) & "e - 17
2) W HE - 9
3) W HE - 10
4) TH HET - 16

TY qfibar § SR TR D

1) TEd/EHET TR

2) FHAT IAEE T}

3) el TEX

4) e FERIEN A el &

e AR off% Sifgma o &l
IO 83

1) 1926 ¥ 2)
3) 1921 # 4)

1909 ¥
1907 |

frfafeg & & @9 F Aa @
Heft 78 ' 7
1) §9% I
2) O AN

3) A o
4) qiieaH
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It devotes lightness and darkness
of hue, is called :

1) Texture
3) Tone

2) Tint
4) Shade

"Rahul Samarpan" painting is in
which cave of Ajanta ?

1) Cave No.- 17

2) CaveNo.-9

3) Cave No.- 10

4) Cave No.- 16

Stone used in Mathura sculptures
is:

1) Marble stone

2) Black Granite stone

3) Kota stone

4) White spotted red sand stone

Indian Society of Oriental Art was
established in the year :

1) 1926 2) 1909
3) 1921 4) 1907

Who among the following is not
related to company school ?

1) Sewak Ram
2) Husa Lal

3) Jhumak Lal
4) Sahibram

P.T.O.
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96. ThY \@Hl A=A qH B FHM
o :
1) 9RA HAT 9, qOET
2) ST
3) SVl faEmdie, SMeeal

4) ARG G, A9

97. & 1966 H, ‘= Hew oAfdEH
faasT” &t T fhEe a7
1) Yo dlo TWHNH
2) %o Hio THo Ti=aT

3) | O
4) foeamer &

98. AWy /AMINGY TP & gEq TH
FME?

1) 99

2) R
3) &Mt
4) o=EEd

99. HRAY & G 9 o :
1) RSUCE A1 JEE
2) TEgd
3) g
4) A

100. EEE RS ® -
1) fafFa safmal &
2) saral & fod
3) F/AmEA & [
4) IW $ a4l
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The work place of Late Shri Deoki
Nandan Sharma was :

1) Bharat Kala Bhawan, Varanasi
2) Shantiniketan

3) Banasthali
Banasthali

4) Bharat Bhawan, Bhopal

Vidyapeeth,

In 1966, who founded the "Chola
Mandal Artist's Village" ?

1) P.V.]Janakiram
2) K. C.S. Paniker
3) Satish Gujral

4) Chintamani Kar

What is
Vatapi/Vatapipuri caves ?
1) Bagh

2) Sigiriya

3) Badami

4) Sittanavasal

the other name for

Sarnath's ancient name was :
1) Rishipattana or Mrigadava
2) Mulgandhkuti

3) Dhamekh

4) Chankam

Shekhawati is famous for its :
1) Painted Havelis

2) Chhataris

3) Wells/Baories

4) All of the above
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i & @ @9 So[ael ARy 998
H TE T 7

1) fagay Hi

2) WO HiG

3) FHNAT Heled HiAX

4) et ATGT HiaX

W AR Al U d ger # W
3R 7a9 aR Hefa ® ¢

) g7 @ 4
2) W& P A
3) T&d B °
4) HEI FiA H

‘AR i Gt ®
1) T o |

2) Ul o 4@
3) @l TH ¥

4) I TH G

%H‘a‘fﬂ]‘{ﬁ & SN’ SaRd e
1) HAIE HeY &

2) Werdiyy HieX §

3) gediga] Hiax ¥

4) T T AR A

A e & 8 o § ‘“qm”

1 g ofef B 7

1) gt &1 §

2) AFhEl H e @ REER @
T P WET REE

3) W BT WUl &l TN AR
4) 3 YU, AT FAT TEC
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Which of the following is not in the
Khajuraho temple group ?

1) Vishwanath Temple

2) Laxman Temple

3) Kandariya Mahadev Temple

4) Kalika Mata Temple

Stupas of Bharhut and Sanchi with
stone railings and gateways
belong to :

1) Shunga period
2) Maurya period
3) Pallava period
4) Kushana period

"Maheshmurti" idol belongs to :
1) Ellora caves

2) Elephanta caves

3) Kanheri caves

4) Ajanta caves

"Stories from Mahabharata" are
found engraved in :

1) Kailashnath Temple

2) Mahabalipuram Temple
3) Brihadisvara Temple

4) Raja Rani Temple

What is the meaning of "Bhava" in
six limbs of Indian Painting ?

1) A knowledge of appearance

2) Audience should see the
feelings of the painter's heart
in the figures

3) Similitudes

4) Correct proportion, measure
and structure of forms

P.T.O.
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106.

1017.

108.

109.

110.

g% & SiaT & 399 T4 S HATSH
% 39 WU » Foh o R T

1) WRAE &Y
2) STHYE! &W
3) W w4

4) IGEEl &Y

HV-H wa FivEd s g SivEd
fremt ax emenfia B ?

1) ST &l

2) SMYFH B

3) A &l

4) WH FHaA

® GagHE /9 4 T T &9
TaE NG b USES &
e ?

1) ST 8, 1943

2) STFCER 13, 1940

3) S 22, 1947
4) SH9 26, 1950

23

et e © 7
2) U=
4) G

aE H g
) ©

3)

T e & GE9 T o STawer
deit H# FRT  gueeTERE
gueE R g8 e

1) 142330
2) 142830
3) 1432%o0
4) 1450%o0
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Scenes from the life of Buddha and
Jataka stories are found reflected
in the panels of the stupa:

1) Sarnath stupa
2) Amaravati stupa
3) Bharhut stupa
4) Papriwaha stupa

Which art is based on fixed
principles and fixed rules ?

1) Classical Art
2) Modern Art
3) Child Art

4) Folk Art

When did the  Constituent
Assembly adopted the new flag as
Free India National Flag ?

1) August 8, 1943
2) October 13, 1940
3) July 22, 1947

4) January 26, 1950

How many caves are in Bagh ?
1) Six 2) Five
3) Nine 4) Eight

The oldest manuscripts of Mewar
painting painted in Apbhransh
style 'Suparshavnachariyam' and
'Suparshanatham' were painted in
about :

1) 1423 A.D.
2) 1428 A.D.
3) 1432 A.D.
4) 1450 A.D.
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. @ Pl g8 oI dited & i
I H fagiyan sl o -

1) YR

2) AYq

3) 9RA™

4) STHIE!
gedhe BIifeT &1 & @& aiH ©
1) ST, e, gib, fifdT

2) e, BT, gE, g

3) $E, g, @i, B

4y B, aifdw, 36, gE

FA T B T Thel B HIFAT
FETT ®

1) IR 2) TANHA

3) Ued 4) dfp

fpe SIggT WENST & & § Bl
RaEr fRer W 121 fEl @ @
TE T 7

1) 99 e
2) dIeaRie
3) STedwiiie
4) FreFTYE
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The school which specialized in
making Buddha and Bodhisattva
Images:

1) Gandhar
2) Mathura
3) Sarnath

4) Amaravati

The correct order of doing

Woodcut printing is :

1) Drawing, Carving, Inking,
Printing

2) Carving, Printing, Drawing,
Inking

3) Drawing, Inking, Carving,
Printing

4) Printing, Carving, Inking,

Drawing

Black colour soft wood coal is
called :

1) Pencil
3) Pastel

2) Charcoal
4) Chalk

During the reign of which Jodhpur
Maharaja series of 121 paintings
were painted on 'Dhola Marvani'
ballad ?

1) Man Singh

2) Bijay Singh

3) Jaswant Singh
4) Kishan Singh

P.T.O.
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115. s A~ § Faa ae A |
X Feer @ fen & ?
1) faam g<m
2) AT FAR BEN
3) foie feerd e
4) %o Sllo GeHUAA

116. %MICbI( SIS T § geiEd 78
1) 1T FAR B
2) THo Tqo Tﬂ
3) SRR T
4) ferforsy AofER

117. ®9-§ g g 9x o 91y
W /@ ?
1) UGS
2) STEAE
3) EXEAE
4) STET-T-TH

118. 78 q&] % &Y & T &
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Under whom did Kalal Laxma
Gaud learnt the Mural Art ?

1) Vivan Sundaram

2) Asit Kumar Haldar

3) Benode Behari Mukherjee
4) K. G. Subramanyan

Artist not related

School is :

1) Asit Kumar Haldar

2) F.N. Suza

3) Abanindranath Tagore

4) Kshitindranath Majumdar

to Bengal

Which painted copy Babur had
brought to India ?

1) Padshahnama
2) Shahnama

3) Darabnama
4) Ain-i-Akbari

It is the character of the surface :
1) Natural Texture

2) Texture

3) Copied Texture

4) Created Texture

In 1876, after the excavation, the
remains of Bharhut were sent to :

1) National Museum, New Delhi
2) Kolkata Museum, Kolkata
3) Patna Museum, Patna

4) Prince of Wales
Mumbai

Museum,
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120. Name the civilization which was

121.

122.

123.

popular for its baked brick houses
and water supply system ?

1) Vedic Civilization
2) Indus Valley Civilization
3) Mauryan Civilization

4) Janpad Period Civilization

Select the
"Principles of Composition" :
1) Unity,

Emphasis, Rhythm, Proportion

correct order of

Harmony, Balance,

2) Balance, Unity, Harmony,
Rhythm, Emphasis, Proportion

3) Proportion, Harmony, Rhythm,
Unity, Balance, Emphasis

4) Rhythm, Proportion, Balance,
Unity, Emphasis, Harmony

Who among the following got
"Padma Vibhushan" (1974) and
"Desikotram" (1977) award ?

1) K.K.Hebbar

2) M.F. Hussain

3) JyotiBhatt

4) Benode Behari Mukherjee

The form that belong to the art of
Yamini Roy is:

1) Abstract form

2) Three dimensional form

3) Folk art influenced form

4) Classical form

P.T.O.
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In 1952 "Indian Painting in the
Hills"
Painting" were published by :

1) Dr. M. S. Randhawa
2) W.G. Archer

3) ].C.French

4) O.C. Gangoly

Punjab and "Kangra

Arrange the following painting
styles period wise :

1) Ajanta, Jain, Kangra, Mughal

2) Kangra, Jain, Mughal, Ajanta

3) Ajanta, Jain, Mughal, Kangra

4) Mughal, Ajanta, Jain, Kangra

Which stupa is situated in the
Guntur district and on the left
shore of Krishna river ?

1) Sarnath stupa

2) Nagarjunakonda stupa
3) Nelakondapally stupa
4) Amaravati stupa

How many paintings are there in
"Tutinama" ?

1) 98 paintings

2) 108 paintings
3) 152 paintings
4) 200 paintings

In Ajanta which caves are related
to "Hinyana Bodh" religion ?

1) Cave No.-8to 16

2) Cave No.-8to 13

3) CaveNo.-6to7

4) CaveNo.-1to5
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Madhya Pradesh and Chhattisgarh
are famous for which Folk painting
style ?

1) Gonde Painting

2) Pithora Painting

3) Kalamkari

4) Pata Chitras

In 1909, who wrote the book
"Indian Craftsman" ?

1) Dr. Moti Chandra

2) Anand Coomaraswami
3) S.H.Raza

4) Mulk Raj Anand

From 1558 to 1572 Akbar had
established Chitrashala in :

1) Agra

2) Fatehpur Sikri
3) Lahore

4) Delhi

Use of thick and heavy colours in
painting is known as :

1) Oil colour

2) Impasto

3) Thick colour

4) Acrylic painting

Which Temple of Deogarh is an
unbeatable monument ?

1) Dashavatara Temple
2) Ganesh Temple

3) Shiva Temple

4) Laxman Temple

P.T.O.
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A book, a brick and a square
carton belongs to :

1) Cpylindrical shape

2) Cuboidal shape

3) Ovalshape

4) Spherical shape

By whom Sigiriya caves were
restored and secured ?

1) H.C. Pavel

2) Giriraj Kishore Agarwal
3) B.N. Apte

4) Nand Lal Bose

Painting made by f{ixing small
pieces of stones, glass tile etc. is
known as :

1) Wall painting 2) Mosaic

3) Mural 4) Fresco

Which God is worshipped by the
name 'Shri Harsha' in the
Harshnath temple of Sikar ?

1) Ram 2) Krishna
3) Vishnu 4) Shiva

Full name of K. K. Hebbar :

1) Kattingeri Krishna Hebbar
2) Kattingeri Kumar Hebbar
3) Krishna Kattingeri Hebbar
4) Krishna Krishna Hebbar

"Cymbal Player in dancing pose"
is a sculpture of :

1) Kailash Temple, Ellora

2) Sun Temple, Konark

3) Vimalshahi Temple, Mount Abu
4) Ranakpur Temple, Udaipur
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"Chand Bibi playing Polo" is
related to :
1) Bijapur

2) Golconda
3) Ahmadnagar
4) Bikaner

Credit for bringing Kishangarh

style to light goes to :

1) Dr. Faiyaz Ali and Eric
Dickinson

2) Dr. Moti Chandra and Dr.

Pramod Chandra
3) Kishansingh and Roopsingh
4) Sawantsingh and Rajsingh

Which painting of Amrita Shergill
is not given here ?

1) Bharat Mata
2) Hill Women
3) Three Sisters
4) Bride's Toilet

Sittanavasal caves were first seen
by:

1) C. Shivarammurti

2) T.S. Gopinath

3) H.C. Pavel

4) E.B. Havell

When and by whom Bikaner state
was founded ?

1) In 1488 by Rao Bikaji

2) In 1400 by Rao Karan Singh ji
3) In 1450 by Rao Suraj Singh ji
4) In 1460 by Rao Jodha

P.T.O.
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Government College of Arts and
Crafts, Chennai/Madras was
established in the year :

1) 1850 2) 1854
3) 1857 4) 1856

Who wrote the commentary on
Kamasutra which is known as
Jaimangla ?

1) Yashodhara Pandit

2) Bharatmuni

3) Vatsyayana

4) Somdeva

Who established the
Group —437?

1) Pradosh Das Gupta
2) Jaya Appaswami

3) F.N. Suza

4) Satish Gujral

Kolkata

Madurai Temple is made in which
style ?

1) Dravid style 2) Nagar style
3) Besarstyle 4) Hindu style

In 1405, Guler
established by :

1) Raja Harichand

2) Raja Ummed Singh
3) Raja Sansar Chand
4) Raja]Jagat Singh

state was

"Shiva Nataraja" in Bronze belongs
to:

1) Chola Dynasty

2) Pallava Dynasty

3) Hoysala Dynasty

4) Nayak Dynasty
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